VC.692 VC.692p

ELESA Original design

H Lo 0]
£8 A PA 30
B

ot FHE2 o 62 E20|, 2HE, 7|

-VC 692 #EEA, Ho| U 2210l
-VC 692 p: O 2 & AL LINY
9| 7|&xtg Ex)0| [[tEW 2Me|

i
l |>m

E1E, U
ot

£3i &
5-2 2 D Q- ELESA Original design-2 AFXHO|A At 182 X3t &
gle CHERSE JEf ME2of H YO AT BN S0 THES ofotc).
ol cE& £3| 9l R0 20|t A8 MEE AHESIM X5 HAad|0F gt
RES M 7142t 1828 MHSICt
€ | B [N
il S AN RS — |!r8388&;8m
=
P w ||
2
D L D L
Elesa & =9 K= LEA} q
IAE | AP D L di I |deg | q
166242 |VC.692/32 p-M6x16 32 225 14 125( M6 16 15
166243  |VC.692/32 p-M6x20 32 225 14 125( M6 20 16
Elesa = = K= = q 166245 |VC.692/32 p-M6x30 32 225 14 125 M6 30 19
TIE | A D L di lz2 |den h g 166362 |VC.692/40 p-M8x20 40 2 15 14 | M8 20 28
166221 | VC.692/32B-M5 | 32 225 14 125 M5 10 15 166364 |VC.692/40 p-M8x30 40 2 15 14 | M8 30 32
166222 | VC.692/32B-M6 | 32 225 14 125| M6 10 14 166366 |VC.692/40 p-M8x40 40 2 15 14 | M8 40 36
166341 | VC.692/40B-M6 | 40 26 15 14 | M6 12 25 166481 |VC.692/50 p-MI0x20 [ 50 31 18 17 [ MI0 20 47
166342 | VC.692/40B-M8 | 40 26 15 14 | M8 13 23 166483 [VC.692/50 p-M10x30 | 50 31 18 17 [ MI0O 30 57
166471 | VC.692/50B-M8 | 50 31 18 17 | M8 15 44 166485 [VC.692/50 p-M10x40 | 50 31 18 17 [ MIO 40 66
166472 | VC.692/50B-M10 | 50 31 18 17 [ M0 17 40 166571 |VC.692/60p-MI2x30 | 60 365 21 21 [ MI12 30 69
166551 | VC.692/60B-M10 | 60 365 21 21 | M0 20 63 166573 [VC.692/60 p-M12x40 | 60 365 21 21 | MI2 40 80
166552 | VC.692/60B-M12 | 60 365 21 21 | M12 20 54 166575 |VC.692/60 p-MI2x50 | 60 365 21 21 | M12 50 91
ELESA 2%, 22 ol o7{3t I A9 ELESA £9S HXE Of 34 SXIS 2|3t} Ele‘a

117

if

10
i

i





